e TR IX 4T+ 4 20265462 H 24t &4

BV &

e Famg A9 EELED N A N [ ORH . g BWE&H o)
1 2.13 RN RBURF N TN 19600
2 2.13 e RIS I g4k YNCYIPN 19000
3 2.17 RN TR e AT = 31
4 2.17 ZRXA /N 1BE A Iu 12
5 2.17 IRAE N = AR LR, e T 2 16
6 2.17 PEL T E S T 1
7 2.17 BhFESIG h ER AN TE TR 1
8 2.17 J\AEER 2HERS TR 1
9 2.17 PRSI0 rh 2 AN K SE— ek 1
10 2.17 BRI ARk BV et 1
11 2.17 PRSI A R A e 1
12 2.17 BhFEsEIG tAE )\ 29K e AT 2 45
13 2.17 PRSI 2w M e AT 2 10
14 2.17 LRSI 2 SR e AT = 1
15 2.17 AT A — 0k 1
16 2.17 PRSI 2 AL e AT = 1
17 2.17 PRSI 2 DU e AT = 1
18 2.17 REI e AT = 2
19 2.17 BELR S e AT 1
20 2.17 BEESLI BREAR e AT 2 1
21 2.17 PRSI e AT = 1
22 2.17 PSR R e AT 1
23 2.17 PRS2 A5 1R e AT 1
24 2.17 PRSI 2 B e T 5
25 2.17 g e AT 2 5
26 2.17 PSR AR e AT 2 1
27 2.18 PV A Tu 1
28 2.18 hE R A Tuk 1
29 2.18 BRI A A i TR 1
30 2.18 K e AT 2 1
31 2.18 PSR A MR e 1
32 2.18 R e AT 2 20
33 2.18 BRI e AT & 1
34 2.18 e S A — 0k 1
35 2.18 ZF LR 18 e AT = 17
36 2.18 EF LRI S 23 S — Uk 22
37 2.18 PRSI 2 s e AT = 1
38 2.18 BRI R e AT = 1
39 2.18 PSR\ SBE e AT = 44
40 2.18 BG4 8K e T 2 43




41 .18 BFEsIG dE )\1 9K U 49
42 .18 PSR\ 1K e T = 1
43 .18 PEITA N2 AR Sk ek 8
44 .18 PEITA N7 4R Sk otk 25
45 .18 IR N EEARFE TR 45
46 .18 IRV NN SE— ek 24
47 .18 BhFEsEIG dAE )\1 9K U 1
48 .18 SIS B2 L1 THE e AT 35
49 .18 BEESE \ B e AT = 42
50 .18 e e AT = 1
51 .19 RS 2L 6L e AT = 53
52 .19 BEEESE a-L 6T A Tu 52
53 .19 RN — 1BE A —Tu 9
54 .19 BhFESEIG d2E )\ 139K U 47
55 .19 P IR /N2 L 13E FHE— Tk 26
56 .19 VGGG /)2 = 13E A — 0k 14
57 .19 P IR /N2 — 13E I — Uk 4
58 .19 LIPEAT LT A — 0k 1
59 .19 BN ek 2
60 .19 E TR 2N 1E SE— ek 22
61 .19 E T JUAER] A — 13E SE— ek 16
62 .19 AN A YRR A — 0k 5
63 .19 AR /NS 1HE I — Uk 13
64 .19 HARAN AR SE— ek 5
65 2. 20 L3P R e AT = 1
66 2.20 HAR AN T SE— ek 5
67 .20 JitE AN IR, A — 0k 6
68 .20 ETLIUER R = 1 e AT 19
69 .20 VAR YNecravisd e AT 2 14
70 .20 i T 1
71 .20 S oh A R SR —Tutk 1
72 .21 BhFEEIG thE-G 20k A Tu 50
73 .21 i/ =138 A —Tu 5
74 2.23 HERIHRT e 8
75 2.23 &R 23 LT R %5 ek 23
76 2.24 &R 23 LT R %5 SR —Tukk 36
77 2. 24 VA GG /N2 DY 4R 2 U 13
78 2.25 TIREANE PR A — 0k 4
79 2.25 N e A — 0k 1
80 2.25 WA ILIE L e AT 1
81 2.25 e WL 4J )L AN — B P U 1
82 2.25 o RS LI 2 2 77 SE— ek 10
83 2.25 o RS ) LI S d 0 SE— ek 2




84 2.25 & e AT = 1
85 2.25 FE S — Uk 1
86 2.25 X1 TR 1
87 2.25 e RS LI A — 0k 1
88 2.25 & e AT 1
89 2.25 KL A — 0k 1
90 .25 eI U 1
91 .25 e R4 ) L B ok B A — 0k 1
92 .25 e L 4 ) L ) I S A e AT = 1
93 .25 e R4 LI e AT = 1
94 .25 o RS ) LI DB A — 0k 1
95 .25 e R4 LI A Tu 1
96 .25 e RS )L/ —PE IR R A — 0k 1
97 2.25 PSR/ = 103E e 43
98 2.25 et R 24 LR 1 EARES e 49
99 2.25 BRAESIGNER 2 e AT = 47
100 2.25 e R4 ) L e 2 7 A — 0k 1
101 2.25 | e AT = 1
102 2.25 IR S — Uk 1
103 2.25 WAL GG e AT = 8
104 2.25 sAEL) ) LI TR BE S — Uk 14
105 2.25 e RS LI S — Uk 1
106 2.25 PSR U1 e AT = 50
107 2.25 PENGA )7 ) L el oh K BE TR 16
108 2.25 BRI b2 )\ 10FEIL R AR SE— ek 1
109 2.25 o U 0.01
110 .25 BEEESERR/N Y = 3R e AT 40
111 .25 BEESERR/N Y = 2K e AT 43
112 .25 e A — 0k 1
113 .25 PSRN =1 e AT = 40
114 .25 BA SRR 133E e AT = 51
115 .25 BA TR L AP % A Tu 51
116 .25 BB AR T % TR 1
117 2.25 H SRR AR AT e 1
118 2.25 B A SR 2R T T S A —I0k 1
119 2.25 B A SR 2R R T 2R A —Iuk 1
120 2.25 A S8 5 Y 23 I — Uk 34
121 2.25 B A S 2 A i A — 0k 1
122 2.25 B A S RO E A% ek 1
123 2.25 7 SRR SRR R 3 e AT 1
124 2.25 B A LB A TR A —Iuk 1
125 2.25 A LR AR E R e T = 1
126 2.25 ERPR il A e T = 1




127 2.25 B S R TE SRR 1
128 2.25 B 7 S S R R A TR S — U 1
129 2.25 B A SR SR B I — Uk 1
130 2.25 B A S A R R L S — Uk 1
131 2.25 B A SR8 5 )\ 23 I — Uk 49
132 2.25 B A S0 S R A 2 — Uk 1
133 .25 B A S0 R e 5 I — Uk 1
134 .25 B 7 S S R SR 1
135 .25 B A S50 SR TR A FHE— IR 1
136 .25 B A RIS R I — Uk 1
137 .25 B A SRS e —Iukk 1
138 .25 AT A 0 PR I — Uk 1
139 .25 B A0 R R ik S — Uk 1
140 2.25 EEER s SO 1
141 2.25 B 7 S S R R S — Uk 1
142 2.25 B S R TR R b I3 1
143 2.25 B A S50 R LB I — Uk 1
144 2.25 7 S SRR S Tk b I3 1
145 2.25 B 7SI R AR R SR 1
146 2.25 B 7 S S A 1 b I3 1
147 2.25 B A S ) . 63E b I3 41
148 2.25 B S SR AR S — U 1
149 2.25 R i SR 41
150 2.25 B A SR L THE Uk 52
151 2.25 B 7SI SR T A b I3 1
152 2.25 B A SR L5 PE S —IuER 51
153 .25 B A SR L 5 PE Uk 51
154 .25 ML AUk 1
155 .25 B A AR\ L LIER KPR S — Uk 49
156 .25 B 7 S S R R SR 1
157 .25 EE S vk SURE I — Uk 1
158 .25 B A SR R T AR I — Uk 1
159 .25 B 7 SR SRR AR S TR 1
160 2.25 B A S8 5 B 83 FHE— ok 41
161 2.25 B 7 SR SR T SOk 1
162 2.25 b IR ES S — Uk 1
163 2.25 A S 5 B M v I I — Uk 1
164 2.25 EEER RT3 1
165 2.25 B 7 S S R R A SR 1
166 2.25 B A S8 R\ 1238 S — Uk 49
167 2.25 EEER i 7 b I3 1
168 2.25 B 7 S SRR Y S — U 1
169 2.25 ERE 2 I — Uk 51




170 2.25 B A S5 B 63E I — Uk 40
171 2.25 B A SR A — A — 0k 1
172 2.25 A s L 1438 I — Uk 51
173 2.25 B A LB A IR L —Tukk 43
174 2.25 B A LB R % AR SE— ek 49
175 2.25 kar R 1
176 .25 B A SR 2 A R S K A — 0k 1
177 .26 A SRR 123 e AT 46
178 .26 B A S 5 Y 33E FHE— IR 35
179 .26 B A SIS 13 I — Uk 50
180 .26 BA SRR\ ABE e AT = 16
181 .26 B A SR A% OB T A Tu 46
182 .26 BA TR AR ICH A —Tu 51
183 2.26 A A S22 L 6 MR 1R e 49
184 2. 26 FHI e 1
185 2.26 ZFILE R SR —Tukk 1
186 2.26 J\THE e AT 2 42
187 2.26 o A 23 e i T SR —TuEk 35
188 2. 26 A SRR AR R R e AT 2 50
189 2.26 EEESSEL N A — 0k 48
190 2.26 A SR\ SBE e AT = 49
191 2.26 IR e AT 2 50
192 2.26 AA SRR 1 e AT = 46
193 2.26 A S L 8P L4 SE— ek 145
194 2.26 A S0 2 b S TR A — 0k 10
195 2. 26 A A LR AR T3 e AT = 5
196 .26 PEITA %)) LI /N B A — 0k 11
197 .26 PR SRR/ A SCRT e AT 42
198 .26 BERESZIGNERA U 35
199 .26 o R AN R A — 0k 45
200 .26 BA SR AR 13K e AT = 273
201 .26 B A S )\ SYER T 55 Uk 40
202 .26 BA TR 2B YL A —Tu 43
203 2.26 B A SIS 23 FHE— ok 33
204 2.26 B A LIRS 19E A —I0k 33
205 2.26 e R/ 223 e AT 2 1
206 2. 26 e R4 )L U 1
207 2.26 e R4 )L e 5 A — 0k 1
208 2.26 SRR 2\ 1R 4L S — Uk 17
209 2. 26 e R %) )L I i 48 e AT 1
210 2.26 o R4 ) L Il BT R A —Iuk 1
211 2.26 e RSl ) LI T A S — Uk 1
212 2.26 2 RN 2 e T = 1




213 2.26 e R %)L e AT = 1
214 2.26 R )\ 2P R AT e T = 12
215 2. 26 TR e AT 2 1
216 2. 26 RIEHE e T 2 1
217 2. 26 YU Lo Ji TR 1
218 2. 26 1 R el e AT 1
219 .26 e R4 LI 2 T4 e T 1
220 .26 SRS CEIPINEE S e AT 1
221 .26 e R4 )L e AT = 1
222 .26 VLS T 1
223 .26 o RS0 ) LI 8 R A A — 0k 1
224 .26 o R AN T i ek 46
225 .26 PV A —Tu 1
226 2. 26 e RN DY 4T e 39
227 2.26 A S AR DY 1 HE e e 44
228 2.26 b 2z-E1PEsk Y E e AT = 41
229 2.26 PEEESEIR/N IR e AT 2 42
230 2. 26 Tk R i e AT = 1
231 2.26 RI b2 PESE e AT 2 22
232 2.26 BEEESEg ha \ 123F e AT = 45
233 2.26 FATEYPINTE! e AT = 1
234 2.26 AA SRR = THE e AT 2 423
235 2.26 BEAR/N T 1 BE e AT = 22
236 2. 26 e R Iy ) L el W A Ao e T = 1
237 2. 26 Wi e AT = 1
238 2. 26 e R Iy ) L el i) 55 R e AT = 1
239 .26 Kbz 29 TR 20
240 .26 = e AT 1
241 .26 SIS B2 L 119 e AT 2 54
242 .26 2 T 1
243 .26 pAVE S e AT = 1
244 .26 BA TR = 3 A Tu 168
245 .26 JREE TR 1
246 2.26 e R /N 2278 THE R AR e 1
247 2.26 A LR = A3 e 40
248 2. 26 Pl SR 1
249 2.26 B A SR 2 /N S ek 45
250 2.26 TSR A etk 40
251 2.26 B A S22 = SR e e AT 2 472
252 2.26 A SRR B e AT 47
253 2.26 B A SR = 63 S — Uk 33
254 2. 26 B SRR AR e T = 57
255 2.26 e R AN A e T = 1




256 2. 26 Kk AU e AT = 1

257 2.26 H SRR SR — 4TE e T = 45
258 2.26 B A SR 2 A S SE— ek 1

259 2.26 RSG5 UK e T 2 47
260 2.26 o RS ) LI 22 SE— ek 1

261 2.26 o R %)) LI A SE— ek 1

262 .26 A A SR A1 SHEME e T 43
263 .26 B SRR AR — 288 e AT 47
264 .26 BTS2 R — 5 UE e AT = 45
265 .27 B A LR AR SHEE L e AT = 52
266 .27 A ) ) L7 S e e AT = 10
267 .27 ) LI KB T 5

268 .27 SRR AR, A —Tu 9

269 2.27 SRR N AR e 11
270 2.27 A SRR 2B e 50
271 2.27 SRR AR, e AT = 13
272 2.27 SIS /N DY AR LR e AT 2 13
273 2.27 e RN 7N 6B e AT = 47
274 2.27 & RN N BHERAT e AT 2 46
275 2.27 e RN N 23 e AT = 48
276 2.27 o R /N 27N THEVFE 38 e AT = 48
217 2.27 e R /N2 7S 8 HE S — Uk 48
278 2.27 e RN N ABE e AT = 45
279 2.27 B A LR = 1905 T e T = 144
280 2.27 A SRR AR TR e AT = 126
281 2.27 ERE e e AT = 46
282 .27 A A SRR 6B e AT 79
283 .27 SIS 2 L 139K e AT 50
284 .27 Z7 %) LEE NBE e AT 2 20
285 .27 ZFig)LIE S — Uk 15
286 .27 ZT gL e AT = 23
287 .27 ZF %)L I — Uk 15
288 .27 e RN = 3R A —Tu 42
289 2.27 EER e AN e 49
290 2.27 e R /NS 33E FHE— Tk 48
291 2.27 e RN — 4T e AT 2 33
292 2.27 e Rl /N2 6 F e AT 2 22
293 2.27 SR SEEGNE SRR e AT = 27
294 2.27 el Rl /N2 — 3 FE e AT 2 28
295 2.27 SR SEIGNE AR, e AT 29
296 2.27 SRS NE AR e AT = 6

297 2.27 e R /N2 23 e T = 19
298 2.27 e R /N2 33 e T = 24




299 2.27 e R /N2 = 2 U 40
300 2.27 e RS LI U 1
301 2.27 B A S 5 — 33 TR 34
302 2.27 B A SR — 43 TR 36
303 2.27 B A LI B L 438 TR 52
304 2.27 B A LI — 13 R 34
305 2.27 B A LI — 63 U 43
306 2.27 fe RN 7S 2E R TR 1
307 2.27 B A S 5 — 33 U 1
308 2.27 B A S 5 — 33 I — Uk 1
309 2.27 e RN — 13E SO 31
310 2.27 B A S8 5 — 33 R 1
&t 45722. 01




WL X LD+ 7 2 20265 | R 2 A AR B & I L AR 3R

s THI F9 PR CHRMG T I ENCNCTIEEA D) ZW AL N SHEH G L
2.13 Bl S AR AR LA WREREAR LA 350. 4
2.18 AEsE 1 P DX AU BV O B 7 R =N 2Bk 3000

i 3350. 4




LT PEIX A7 2 202548 L A i Ak AR M B DL AR R

=

kel EE )

W GO

AR (BH . HED

WE A

S

LA

B4 Go

HIE

x




T2 T B X AL 22 20254 1 AR B2 Ak S 3R a1 B A I 1%

WA

£

o

CIEIERY]

MBI HE T

B2 GRED

SZR AL

A RIS

7




